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Analyse — Révision 1 
  

Exercice 1 

Déterminer l’ensemble de définition et le signe des fonctions suivantes. 

__æ— 6x — 10 
a) f(x) = —3z —9 ) f(z) o) he) = IT 

b) g{r) = 61 +x-2 d) k(x) = V10 — 2x 
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Exercice 2 

Déterminer l’ensemble de définition des fonctions suivantes. 

~ 4x-1 — 

a) = D = 7 dna) = JE   
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Exercice 3 (6 points) 

Déterminer l’ensemble de définition des fonctions suivantes. 

a) f(r) =In(32 — 6) b) g(t) = 3-10) 
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Exercice 4 

Soit f(x) = 2x? — x et g(x) = —-3x +1. Déterminer fog(x). 
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